
I. F.!S-40llJ ) lUll~ I ot'lo 

ELECTRICAL ENGINEERING l 
PAPER-II 

I. I ho diagram given billow shows the 
connection of a four-wire delta bonk lor 
obtaining a 3- phase 4- wil'e distribution 
system. TI•e secondary voltages between 
the rerminals are as indicated~ a 

2. 

3, 

§\ ~Hv 
:=t::Jc bt::::: ~ 
What is the voltage between the terminals 
b and d in the above sy~Mn when th<> 
primary side IS energized from an 
sppropliate symmetrical 3-phasc systcm1 

a. 230 I .J2 V 

b. 230 I ../3 V 

c. 115 ><../3 v 
d. 115 " .J2v 
I r pt!r unit impedance~ of two transformers 
connected in parallel are not equal. then 
which one of the following statements is 
COITCCt'/ 

a. The power facwr of the two 
transformers will be Jirfcrcnt from that 
of the connected load 

b. Tmnslbrmcrs will gel ovcrlondtd 
c. Dead shon circuit occurs 
d. 111e transfonner with hTgher per unit 

impedance will share more load 
Match List I (Machine) with List n 
(l'crformanee) and select the correct 
answer using the codes given below : 
Lis t I 
A. Three phase induction motor 
B. Synchronous motor 
C. D. C. series motor 
D, D. C. ohuntmotor 
Lis t II 
I. Adjustable speed 
2. High staning torque 
3. Not selhtaning 

4. 

5. 

6. 

4. Self-staning 
A 0 c D 

a. 3 4 2 
b. 4 3 2 

c. 3 4 2 

d. 4 1 2 

In a d.c. machine. for the same values of <jl. 
z nnd N: which one of the following 
statements is correct '? 

a. Annature. c.m.f. is m<lrc \\
1ilh wave 

lvinding than with 1np winding 
b. Ammture c.m.f. is less with wave 

winding than with lap winding 
c. Armature c.m.f. der>ends on whether 

the machine is running a'i a motor or a 
genera !Or 

d. An11ature e.rn .f. is 1he same as loog as 
the nu., c;lcnsity in the ail' gap remains 
the sam• 

Match List I (Constructional Components) 
with List II (Machines) and select the 
correct answe1· using tl1e codes given 
below ~ 

List I 
A. Damper bars 

B. equalizer rings 
C. Skewed slots 
D. Water...:ooling duels 
List II 
I. Cylindrical rotor $ynchronous 

generator 
2. Snlierll pole synchronous motQr 
3. Squirrel-(;age inductiort motor 

-l. Direct curr~nt generator 

a., 

b. 
c. 
d. 

A B C D 
1 

2 

-1 
3 
4 

J 

3 
4 
3 
4 

2 
2 

A d.c. shunt motor is excited froni nn 
allematill~ power Cl'l'(juency voltage 
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7. 

8. 

source. Its bmsh-o.xis is rotated by an. 
nugle u from ~te geometrical ueulf31 axis. 
The rurque dcveltmeu will be proponionul 
to which one of the foll<>wlng? 

a. sin c:r. 
h. cosu 

c. tan I< 

cl. cos la 
Four types ol' tl.c. gcncrntors of' constmll 
spel'd ure consiclercd (list 1). 'I heir 
c.•Lcntal char•.ctcris tic& at c;mstlllll speed 
are given in list H. Mmch List I (Type o r 
d.c. generator) with I ist II (External 
charnoteristics) and select lhe roOTect 
answ~r using tJJ(: code-s given below : 
List I (Tyr>• of d.t·. gcncr•tor) 
A. Separat,.,ly excited 
B. Scric~ cl<cited 
C. Shunt e.•ciwd 
D. Q,er-1lompound excited 
Lis t II (Exlemal chanu.:lerislics) 

I. 

a. 
h. 
c. 
tl. 

r ~>i, 
... 

Armature curronl l
4 
~ 

1\ 

2 

2 

B 
' ·' 

3 

2 
2 

I) 

4 
3 
4 
3 

Consider the following SIJltcments: Th<> 
spcl'tl of • d.c. motor can be c'(Jntmllcd b) 
dto vnrial io11 of 
I . anuaturr voltage 

2. lield cw·rent 
3. unnalure circ;uil resisrw1ct 
~ . nngle of bn•Sh shiJ1 
Which of the suucmems gjvcn llh<wc ore 
correct? 

o. I. 2 and 3 
b. 2, 3 and~ 
c. I. 3 and 4 
tl. 1.2and4 

9. 

10, 

II. 

12. 

IJ. 

l ut II> 
Whot is tho increase in 01e torque 
c.\prcsscd as pcrcemage of lnitinl torque. if 
the L1Jrrcnt dm\\11 by a d.o. motor is 
increilSe\1 from I 0 1\ to 11 A (Neg lect 
~nturation)? 

a. l l % 
b. 25~~ 

c. 4 1 '~. 

d. ~% 

Cnnsider the fiJIImving statementS 
In u d.c. much inc. iron loss occurs 1u 

I. armature eore 
2. yoke 

3. pole cores 
4. pole shoes 
\Vhitb of the swtements given above are 
correct? 
a. 1 and 4" 

b. I und 2 
c. I Wid 3 

d. 2 Wid 3 

Four in1portoo1 pnromcters of a hemators 
how compur.lli\ ely larger or smaller 
values. ln comparison tu a st.cmn lurbln~ 
driven altern:nor. u hydraulically driven 
maahine will have wh1ch one of the 
thllowing oombinmions? 
Numb« or A.•ial 
llllUIIIUTC tongtb of ~ ~ 
rnodm.1pQ nnn\ltun: 

CSlJ!d!IC!lli"S 

a. Smaller larger smaller higher 

b. Lnrger smaller l"rger lower 
c~ l .arger larger smal ler lowe1· 

d. Smnllet swuller !urger higher 
Whicb one o t' the lollowing is the primm')' 
reason li1r placing lield on rotor iu an 
altemotor? 
a. Small power .in field circuit 
h. lnsulolion of high \'ohage is m~rle easy 

on stator thnn on rotor 
c. Lnf1!C po"cr in slntor 
d. Lnrge current in the stator 
Consider th~ tillluwing: 
I. Supply voltage 

l. Exe:iwlion current 
J. Maximum value ofloau angle 
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14. 

15. 

16. 

17. 

The maximum power developed by a 
s~nchronous motor is a function of which 
of the above? 
a. land2 
b. I andJ 
c. 2and3 

d. 1, 2and3 
Wheu a 3-phase ollemator iR suddenly 
:>hort'-t'ircujted ul its wm1inals. the ini1ial 
value of the short-circuit Ctlrrent is limited 
by whioh one oflhe following 1 
a. Subtransient reactance :C" 
h. Trattsienl Nactance x'• 
c._ Synchronous rcacbmce ~ 

d. Sum ofx .. ~1 • x\, and x$ 
Which one or the following methods gives 
mort! accuraLe result for delenninat·ion of 
voltsgt regulatiou of au alternator? 
a. m.m.f. medmd 
b. Synchronous impedance mothod 
c. Potier triangle method 
d. American Institution Standard method 
Which one of the following smtemems is 
~OITect? 

In n saliom pole synchronous machine the 
alr gap is 
a. unilhnn under the Wht>le pole shoe 
b. lellSL under I he middle of the pole shoe 

and increases outwards 
c.. large.st under the middle of Ute pt>le 

shoe and decreases outwnrds 
d. least ut one end or the pole shoe and 

increases to d1e mnximwn Value at the 
oth<•r end 

Which one of the following is not 3 

necessary condition to be satisOed tor 
synchronising ~m incoming aJtc·rnator' to an 
already operating nltemmor? 
a. Same volmge magnitude. 
b. Same lreqllency 
c. Same prime mover spee<l 
d. Same phase sequence 

18. Which one of the following statements is 
correct'! 
t\ sm•1ller air gap in a polyphase induotion 
motor helps to 
a. reduce the chances or crawling 
b. increase the sllirtiug torque 

19. 

20. 

21. 

~2. 

? ' _,. 

3 of' I o 
c. reduce the chanc.e of cogging 
d. reduce the magne.tizing current 
Which OtiC or the following statemeuts is 
correct? 
In an induction IIIOlor, if ~~~ air gap is 
increased. 

a. its spe..>d will reduce 
b. iL' efficiency will i mpro\" 
c. its power factor will rednce its 

breakdow11 torque will •·educe 
Which one of lhe following statements is 
cum.>ct? 
In a 3- phase induction moior. the torque 
developed is maximum when the rotor 
circuit resistance per phase is equal to 
a~ rotor- l~ka_ge rcacLartce per phHSc al 

smndstil l 
b. slip times iJ1c rotor leakage reactance 

pe•· phase at standsti II 
c. stator I'I!Sistauoc per phase 
d. stator leakage reactance per phase 
The supply voh;\ge h\ nn ind uction motor 
is reduced by I 0%. By what percentage. 
approximately. will the maximum torque 
decrease? 
~. 5% 
b. 10% 
c . 10% 

d. 40"AI 
Consider the following. cul'\le 

tV-
Which of the followlnJ:: chamcteristics or 
the induction rcpresemed by the above 
CUI'\IC.? 

X axis v-axis 
a. Output p.f. 
b. S1:x:ed p.r. 
c. Lo•d elnciency 

d. Speed torque 
t\ squirrel cage induction motor having a 
rated slip of' 4% 0 11 rull load hilS a starting 
torq11e same as the lull load torque. Which 
one of-the lb liowing statements is correct? 
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The s lMting current i$ 
n, e<jWl] 10 t.ho Ml lo•d oum:nt 
b. twic.> ~10 fuU load current 

c. four lim"" ~'" fulllo•d ~u=,l 
1l _(jvc time~ U1c full load "urr-ent 

24. Which one of the follfiWing type.< of 
muton is ruos·t suitable lOr u t.•>0n1putcr 
printer d.-i\'e? 

25. 

2G. 

27. 

n. RcluctattC·C mulor 

h. li)~tcn:si• motor 

c. Sludcd polo motor 

d. St~ppcr motor 
For 3 rcluc'lon~c typt mol<>r, if the stttwr 
m>gneiic Jicld 411,!l)Jiur volucily is w ond 
tJw aCtm1l rotor angular VCliOcity li mr. nnd 
then which one of the fClllowing equalrons 
i~ satisfied if the average electromnsoeti< 
turqu.: is not zc:ro ·~ 

a. (~ = 6.), / 2 

h. '~ = "~ 
c. (!) - 26.!, 

d. (J) ~<Jl, 

Which one of ~lc following s!n!tments 1,. 
correct'/ 

\Vbon a single phase- lnduct1oo motor i1 
excited with single phose n.c. vnlt•gc. the 
magnetic field setup i$ equivalenl to 

a. two fields. minting in opp<l!lite 
dirt:.otiun~ with diticrcnt spew• 

h two fields, rotating at synehmnou• 
•peed in oppo~itc tli:n:ctions 

c. twu field~. mtttting at $)'n~hrunuus 
speed 

d. lwo fields roiJ!tin~ in tile s~me 
liift:<ltion but nl different •1~eed5 

Consider the following stal<:mcnts 
regarding pumped •torose plants : 

I. A pumped storage plnnt is n base load 
plant. 

2 The starling lime of a pumped slorJge 
plant is very short 

3. RO\'~TSible turbine,; und pump• nrc 
hil!ltly ;,uluble li>r pumpctl • tomgc 
pla.ul' 

Which of lhc s tatements gil en t~hO\c ;oo'c 
corr~t7 

" · I nod 2 

h. I ••ld 3 

28. 

29. 

30. 

31. 

·I nt 16 
c. 2and 3 
d. L, 2 and 3 
Which one of the foUowing oquatious is 
con'l!C-t.1 

lL AB ~ CD =-1 

b. .\0 ' CB 1 

c. AB - CD - 1 
d. -AD + BC ~-1 

where A. B.C and D ~re g .. ,er:lli:tcd circuit 
C·OOSl3nl5. 

Match List I (N:unc of Power Plonl) with 
Lisl [I (Plant f.'e.1tures) und select the 
con-eel an.<~wer using the -.."'des given 
below: 
List I 

A. Thermal 

A. Nuclear 

C. Hydro 
D. Die~el 
Listll 

I . H~lt operating e<>sl 

2. lligh capitol cost 
3. High fllunt life 

4. High tucltransportalion cost 

a. 
b. 
c. 
d. 

A B C D 

3 
4 

3 
4 

I 

2 

2 

' ·' 
4 

3 

2 
1 

I 

2 
Tbe comhlncd cftcct of scrie~ ~nd shoonl 
C(lmpe0$B1ion on 1r:mAmi$~tion line!i in 
tenllJl of degree of series compens.,lion 
(K,.), degr~c of shunt compo1JSalion (K;h). 
und $Urge impcdanoo of uncompensalcd 
line (7<~) ill W"en by wh1ch one of the 
lllllowins cqtmtions 1 

a, 7.~ = z.~l - K • ..Jt-K,. 

b. z. = L JiK: ..JLK] l 0 

c. z;=z.~(H: ) (H;~ ) 

d. Z0 : Z0~(l -K,. ) {1- K, } 

M•t.ch Li•l I (Classification based on 
H.:ad) with List n (TJ Jl<: of Turbine) ond 
selcd the correct •n~wcr u.~ing Uld codes 
_given below : 

l.i>t I 
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32. 

33. 

34. 

~s. 

1\. Low he.1d. 2 15 m 
U. Medium ltead, 16 71) m 
C. High head. 71 SOU m 

D. V u·y high head. 500 m 

Lisl n 
I Pelilm 

2. Fr.tnci~ llr Pethm 
3 Kaplan or Franci~ 
~ . Propeller or !i:~pbn 

A B c 
11, 4 3 2 
h. ' ·' 4 1 
c. 4 3 1 
d. 3 4 2 

D 

2 

2 
I 

D, is lltt Gi'vU{ of eoch subconduetot of a 
four subconduclor bundle conducto£ and d 
is the bundle spocing. Whnl is lhe GMR of 
equivalent s ingle conduclnr·• 

•. I.O'I Jo, rl' 

"· t.o9 Jn' a' 
c.. 1.119 4D' d' 

" · 1.09 4o .1' 
Which nne of lhe following statements is 
con~l1l 

Coron3 lnss incn::~ses with 
:.. dect-ense in conductor si7.e ancl inc1't:oa~e­

in •up ply fr"'l""''"Y 
b. increa.~e in both conductor size ond 

suppl> ft'C~ucncy 

c. dcct'CB!IC in both cl)nduclur size nnd 
supply ti'Cqucncy 

cl lncrc.a.sc in conductoJ' Si-te & tlccrcaKe 
in supply ·fr"'luet>C)' 

For • fixed n:ceiving end '"'" •ending end 
vohage in ~~ Lt:tnsm;$.!-i ion 10ystem. w~:11 i~t 

lh.: Incus ofJht ct•fl~Wnl powct1 

•• A str·•ighl line 

b. An ellipse 

c. A parabola 
d. A circle 
At slack bus. which one of li10 follow inc 
combinations ofvariahl~ ls spedlied 'I -

;t. I V 1. 1\ 

b. P.Q 
.!. P.l \' I 

36. 

37. 

39. 

s .,, 16 
d. Q. IV I 
(Tite ~ymbols h~\'e their u.~ual metoning} 

Consid~r the follow ing quaJttities : 

L Real powc...-
2. Rc.aCii\~c powt:r 

.~. Pnwcr factllr 

4. lnpUI current 
S. Bus yollage magnitude 

6. Bus voltage phliSe-angle 

For the puryose of tlte load 'llqw • tudies of 
a power system. each bus or node is 
associated wiUt which on~ of th<1 
combinations of tho a bow four qWIIlLities? 

a. 1. 3 . .t and 5 
b. l. 2.. 3 and 4 
c. 2.. 3. hnd 6 
d. I, 2.. 5 ami 6 
~'onsider the lo llowiog stalements 
r.:gnrding load frequency conLrol ; 

1. Time. constant of :tulonmti~.:- load 
frequency c:onlrol is about 15 se<:oud•. 

2. Integral control climiuale. slntic 
th:quency drop. 

3. [u tic-line load bins control the control 
s ig.nnl for eoch are.• i• proportional to 
cl>:tnge in !Tequtnc) as \\>ell 3$ change 
in ti,..line powc:r. 

Which of the ~tatcmenLS giv"" above arc 
coo·o:ct? 

a. l. 2 and 3 
b. 1 311d 2 
c. I aud3 

d. 2 and 3 

Which one of tho fl>llowing ~tatemcnl;; l.s 
"((ITe.:t 1 
NQtmalfy ®01> matrix i~ o 

a. Null matrix 
b. Sparse mntri.x 

c. r,'oll mab'ix 

d. Onily malrix 

# 
1f (J. ~ o% e· ' , iud I - AL wltotc I L• 
equa l to pi13JC cu1r"'l1 voctor and I. is 
equa l lo symmolrical cunent vector, tlten 
which one of U1e Following mab'iees is the 
symm~Jtrk.o l compon4;nt.s. ttrtnsformation 
matrix i\1 
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~0. 

4 1. 

[~ 
1 

,~, l u, (i 

' r.c a 

r~ '] a a -

b I 
al a 

c.. [~ a' ;"] A 

[~ 
"J a] d. ~ a~ 

I u 
z,. "'d . tl . impud:mce on the -. 1~ lC 1>ur umt 
power h.se Sn"'1 an~ vullage bMe Va''" 
what woulcl he the per 11ni1 nnJICd•nee <m 
ll~e III:W powo1· bii.St Si/'"" nnd vollllg<: bose v fJ~ewt <} 

s'w v- )' 
•• 7. """' ::::: t. ... ., .:::J.L._ ....:L.. 

""' pu sil~ vtt• 
' 6 1.. ~ 

s.•- V'"' )' b_ z ·- = z ~· ::IL. ....:.1.\_ 
,.. Jill' svlll V"""' 

•u a 

"· z """=z ~~~'u- ( v: ) 
PI' "' s.·'~ v-" . 

tL Z ·~ = Z ~·~ ~ S'" v- J 
PM I'll S!'""' \1 11U 

'II 1\ 

Consider lltt> followins ol41<mlcn!s 
reg:u'tling the fou lt una lysis 
I. Tile nc:utl'll l grounding impdcbne¢ Z 

appe.1n liB ~ Z,,, in 1.em ~equence 
equiv• lonl c•rcotit. 

l For faull~ on trans mission llnes. .~­
phase faults tl1e h:ust severe amongst 
oU1"'r faults. 

.3. The posilh'u and h\!gativc .sC<(U~.nc~ 
notworkli nrc not>ffacted by method of 
neolral grounding. 

Which of the s tatements 11,iven above are 
correct'/ -

•• 2 and 3 

b. l and 2 
~. 1 nnd 3 
cL I. 2:tnd 3 

42 Consider the following st~tcmeots : 

43. 

6 ul 16 
S tability ~iudies constitule 

l. the m~jor onnly1 ical appro~cb V to tltc­
~tudy <>f power system 
elcctromechonic~l dynamic bchnviout. 

2 the involvement of one ar just • few 
ntochines urtdtrgoiu~ slo\\ or grodual 
changes in opernting condilions. 

3. tho ddorruination of tbo locus of 
essentially stcody-sL1Ic opcrntin& 
points of the syslenl. 

4. the determin:llion of whelher or nnl the 
ro tors of tlte machines being perturbed, 
retum to the con.sumt speed opcrntiotL 

\Vbicb of tru. sllll<:ruenlll given above ., . ., 
OOIT<.'Cl ? 

Jt l, 2 und 3 
b. l, 3 and~ 
c. I and 4 
d. I, 2 3 and 4 

lf a sudden short cir~uit O.."'!UI'S on a po" er 
system (considered as RL s~ries eit.:.uit), 
U1e c.urrcul wavc-fo nn consists of 

1. :a decaying_ a.c. ClUTt:rU~ 

2 • dooaying <.Lc. current. 

Lot tbe •llcmotor r<:~~ctonoe be X and the 
JlOW<lt· >yst~m tt•tsl..lnuc R. Whi.cb one of 
the following is correct" 
a. The dcc.1y in ( I) ;.. caused loy th e 

increase in X but in (2)is eatiSed hy R 
b. The dec:~y in ( I ) is "'"'-'ed by R but in 

(2) is ct1 used by incr<:a.s~ ln X 
c. The decay in both ( I ) and (2 ) i.o; co used 

byR 
d. Th~ decay In bol11 ( ll .aJid (2) is cau.ed 

by th~ incroa$c ln X 
Mnlob Liit l (Type of R"laysl witl1 List ll 
(Typo.:. of Protco:lion) Md sclcclllle oorrect 
an•wer , ... ;ng the .:ode.~ given belo\1: 
l.ist I 
A. Ditectionnl relny 

B. [ntpe~n~e '"'"Y 
C. DilTercntiotl reby 
D. Pilo t rclny 
Lisl II 

l. Relay OJ>ttalc:i l'or l'oult wilhin ~crtnin 
aisl•ncc of (Is locntiun 

2. Rclny willll'ip for tilull in one localion 
.oml !>luck lc>r nil otl1cr. locations 
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45, 

46. 

J High speed prole<:! ion lbr emird 
transmissi!ln Hne 

-1 rhe principle of current continuity ls 
used 10 devise a simple and efl'j,~tive 
relaying_ sys1em over a ,;:mall physical 
space 

A 13 C D 
u. 
b 

I 2 4 3 

d. 

2 
2 

I 2 

3 
~ 

3 

4 
3 
4 

Consider !he following slat.:menL~ 
regarding 01c suitable choice of HVIX' 
ct>nvcrtcr conligurulion: 
I . Pulse number shou ld be higb. 
1. Ratio of peak im·ersc vollogc to no 

load d.c. Qtllpul vollllge should be as 
high as possible. 

3. Trunstbnna utilizaliOII fhct11r should 
be ncurl) unily. 

Whicb or U1e >'Ulletuenl' g•ven :tb<~ve are 
C(Jrrtcl? 
a, land 2 

h t. 2and3 

c. 1 and3 
d. I :md 3 
rwo 1denttcal RC coupled ampltliers. each 
having an upper em-off frequency r ... are 
cascaded wilh neg I igiblc loading. Whn1 is 
the upper Gul-utr frequency oflhc ,,venll l 
amp I i licr? 

! . 
H. JJ2i 

b. .r. JJi - 1 

c. .!.12 
d. 2]. 

47. Two tdcntical RC coupled amplilicrs. caoh 
havonll n lowt•r em-off frequency .f< arc 
cascaded \1 ith negligible londing. What is 
U1e lower em-oil Lrequency or the overaU 
amplifier? 

a /, 
Ni-l 

h .~J../i-1 
c. fi/2 
d. 2)/ 

7 uf 16 
48. A synchronous s.:quemiul circuit is 

designed ro d~tec1 a bil sequence 0 lO 1 
(overlapping scqu<.nct. included). Rvcry 
lime this sequence is deJected. the circuil 
produces an outpul of · 1·. What is !he 
minimum number ofstnws 01c circuit must 
huvc '! 

4'). 

50 

51. 

a. .J 
b. 5 
c. (, 
d 7 
Match Lis1l !Circuit S)~nbols) with List II 
( Nomcnclntur~) nnd sclccl !he currcc1 
answer using !he codes given below : 
U s! I 

A. ~ 
B. 

c 

D. 

Ll~l II 
I. NAND 
2 NOR 

J. Bufter 
4. Schmiu trigger 

A ll <: D 
a. 4 J 2 
b. 
c. 
d. 

3 
4 

J 

4 

J 
4 

2 
2 

2 
If ' and y are Bon lean variables, which 
one of the 1ollowing •s lhc cqurvnlcnl of 
x$ y$X)• 'I 

a. x + y 

b. X • )' 

c. 0 
d. 
Cm!$ider !be following 
muhivlbrulor circu•t· 

bi$1able 
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, ... 
c, c, R, 

_! I I I 
~.; :.:..--' R ·y I 

'•fTR, ~ R1 l'' 
·-·· Which one of the following statements is 

correct '1 
In the above circuit. condensers c, and C: 
are used 

a. for passing the noise 
b. 10 compensate Th~ collector-emitter 

capacitance 
c. to speed up the switching action 
d. to provide tmgutive feedback pall• 

52. Consider the following statements : 
1. 'ITL has bigh switching speed and 

good ·l):m-out capability. 
1. ECL has the least propayation delay. 
3. I' L uses multi~lkctor tmnsistors 
4. N MOS has more silicon area. 

Which of the statements given above are 
corrc-ct ? 

a. 1.2and J 
b. 2and4 
c, I, 3 and 4 

d. 1,2, 3and4 

53. Which one of the following statements is 
con-eel'? 
AJJ ideal regulated power supply should 
have 
a. 100% regulation 
b. 50% regulation 
~.:. 0' '<. regulation 

d. 75% regulation 
54. Mllloh List I with Li>i II and select the 

correct answer using the codes given 
below 
List I (Opernrion) 
fl. Counting 
B. Decoding 
C. Data selectio•• 
D. Code convctsion 
I ,i~t II (Associ• ted Oevke) 
I. ROM 
2. Multiplexer 

~ of Ill 
3. Demultiplexer 

~ - Register 
A B c D 

a. ) 4 ' I 
b. 3 4 I 1 

c. 4 J I 1 

d. 4 3 1 I 
55. Which one of the following statements is 

con-ect? 
A photodiode works on the prinoiple of 
a. photo-vohaic effect 
l>. photo-conductive effect 
c. photo-electric efrect 
d. photo-thermal ef1eot 

56. Match List I with l. ist II nnd select the 
correct answer using the codes given 
'below: 

57. 

58. 

Li~t l (Circuit) 
A. Mooostable multi vibrator 
B. Bistable rnultivibraiClr 
C. Clamping circuil 
D. Schmin trigger 
List n (A p(11ication) 
I. Comparator 
2. d.c. level 1rnnslator 
3. Delay. 
4. Voltage controlled oscillator 
3. Counter 

A B c D 
a. 4 3 I 2 

b. 3 5 2 I 
c. 4 5 ' I 
d. 5 4 I 2 

What are the vai11CS respectively, orR, and 
R, in the expression 

(~35)RI = (56S)In = (865)Rz 1 
a 8. 16 

b. 16, 8 

c. 6, 16 

d. 12,8 
Match List I (Sections of a Service 
Voltage Regulator) with List II (Elements 
used in these Sectious) aud se.let:l the 
correct lll\SWI;r using tbe codt)S given 
below: 
Lis! I 
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59. 

6(1. 

A. Reference source 
B. Hrror detector 
c. Comrol device 
D. Curreul limit 
Lis t U 
I. Op-Amp 
1. llJr 

J . z~ner diode 
4. Short circuit protection 

A B c J) 

a. 3 I 2 4 
b. J 2 I 4 
c. 4 1 I 3 
d. 4 I 2 3 
Which. one of the following statements !s 
corrctt'! 
The efficiency of class 0 push-pull 
amplifiers is much higher than that of class 
A amp I iticrs primarily hccausc 
a the tlistnrtion is kepi within ncoCpltlble 

limits 
b. one half of the input signal .is 

amplified using one transistor nnd tho 
other half is phase-inverted and fed to 
the otl1er transistor 

c. matched pair 1ronsis10rs are used in 
push-puJJ opermiou 

d. tl1e, quiescent d.c. current is avoided 
tlle class B 

Cooside.r the following circuit: 

v, - - ---l' 

L 
"· 

Which one of the followin£. is U>t correct 
e-xpression for the Current l11 'I 

o. 
II,.R1 

R,(R, + R, J 

b. !,_ 
1?, 

c. !,_ 
R, 

d. f1 (-1 __ 1 ) 
R1 R, 

'!or' lo 
61. I! is required to construd a 2"-to-1 

mulllplcxcr by using 2-to-1 multiplexers 
only. How many of1·to·l multiplexers aN 
nee{!ed? 
a. n 

b. 21
" 

C. 2" I 

d. t •- ' 
62. A inverter gate has guaranteed oulpul 

levels ns: 

63. 

64. 

65. 

logic •t · = 3.8 V and logic '0' ~ 0. 7 V. 
The maximum low level input voltage a1 

" hich the output remains high 2 V. The 
minimum high-lcwl inpUl volltlgc at 
which the output remains low = 3.1 V. 
What ore tl>e noise margins of this gate 'I 
a. NMu = 2.4 V. NM1 = 1.8 V 
b. NMu: I .~ V. NMt - 1.3 V 
c. NMu = 0.7 V. N>'vlt z J.8 V 
d. NMn= 0.7 V, NM1 = 1.3 V 
C<>nsidcr tbe following circuit ; 

' •• L...--
s-•..UX I -' 

' 
ll. 

Which <ll1~> nr the following gives the 
funcrion implementoo by the J'viUX-based 
digital circuit '? 

a. f = C1. C1.S- C~ .c, . (A+B) 

b. f = C..C1 .C:~.-Ct1 C2.C1 .S+C, .C1.Ab 

c. f~ AB I S 
- -d. r,. c, .c, t· C2. c,. s 1 c,.c,.AB 

Which one of the following statements is 
correct'l 
For ~ ~-inplll NOR gare. when only two 
inputs are to be used, the best optiml for 
the wJUsed iuputs is 10 
a. connect them lO tJ1e g.rouud 
h. connect them to Vn 

c. keep them open 
tl. connect them to the used inputs 
A range d~coocr Is a 'digital d rcuit which 
OU4>Uts a · I · whenever fill m-bit number X 
falls within the m.ng~. 2' s X s 2', 0 s p, q 
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66. 

67. 

s m- 1. Which one or d1e following 
funcl ions describes Lh~ rangc-Mcodt>r? 

a. ( x,.x •. ,.· ... x,_,.x.) 
(x • .,+x •. ~+ .. + x_,) 

b. (X. GJX,.,@ .. ·X,) 
( Xq., • X., .: I ... + x.,_.) 

c. (X,+X,,,~ .. ·-X,_1+X.} 

(x.w ... .x_,) 
d. (x,, ~x ,+x,+ .. +X,,) 

( x,,.,.x •. , ..... x ... ,) 
Con~ickr lho following di'Cuil : 

I K t K 

2K 
• v o----'>w~.r--1 

I K 
I V o----'>"-"';,,_-.,-(.:'/ 

;:o.--.. v. 

I K 
I V o----'\MI,_-j 

IX "' ,_....,.w,_-' 
Whnt is I he nutpnt voltage. V, in the abov~ 
circuit 7 
a. 9.5 V 

b. 3 v 
e. J2.2 V 
d IV 
If the cnuplittg cupacitors of n CE 
transistor amplifier is shorted. which one 
of li1c following graphs will reprcsen1 the 
trequcncy response c.urve of tht\amplifie,r? 

(A, vohagc gain. f c frequency in Hcru, 
AnlJs = ma..\:imum value of A~) 

a. 

'·tl 
I 

b. 

68. 

6~. 

70. 

c. 

d. 

"­A,t--=--

, 

IUof'lb 

A silicon 1ronsis10r with V111 = 0.8 V. fl,,. 
= 100 and V«. = 0.2 V is usod in tltu 

circuit shown belo'" = 
•10V 

R, 

What i$ the mmrmum value of Rc lor 
which transis1or is In smur:lfion? 

a. 4286 n 
b. 4667 n 
c. 5000 0 
d. 1ooo n 
For a JK tlip-llop. Q, is output at rime step 
t,. Which of the following Boolean 
expressions represents Q," ? 

a, J .. 0 .. -K~~O .. 

b. J.Q. ~ K. Q,. 
- -

c. J,Q. - K. Q, 

d. J,O.-K'.o, 
Which one of the foii<'Wing statements is 
correct'/ 

In ltuel 8085, me interntpt enable flip-flop 
r5 reset by 
a. 01 Instructions only 
b. system RESET only 
c. interrupt uck.n<Jwledgem.,nl only 
d. ei~1er Dl or systetll RESET or interrupt 

uck now led gctu ""' 
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71 

72 

73 

Mntch Li;t l Onstruclionl with Liot n 
Operation) Ji)r Intel goS5 nnd seleet lh" 
c<ln'c.!l anHVl'f us ing thc code.• given 
below: 
LiS1 [ 
A PCHL 

B. SPHL 

C. XTHL 
I) , XCHG 
l.ist n 
I. Exchnnge the tllp Hf the ~tJck with tho 

cont.enl$ ni'HL pair 
2 Exchange the contents of HJ. with 

U10sc of DE pair 
3. 'fr•usfer Uoe contents of HL to the 

slack point or 
4. Trausf..- Uoc couteuts of HL to tloe 

pro.gnuJuuc counter 

\ 13 C D 

'" h. 
J 
3 

-1 

4 

I 

2 
2 

w 4 3 2 I 
d. 4 ~ 2 

Mntch LISI I ( lnstnoct.iont with List U 
( Applicauon t and select the con ect nnswer 
using Ute code• givun below: 
List l 

,-\. SJM 

H. DAD 
(', OAA 

1), Sl'HL 

List II 
J l6Cbit addition 
2. lnitil11iljng the slllck puinl¢f 
3 . S<'l'iill output dolo 

4. Checking tlou cuJTcnl iut.,:rupl ma•k 
set till£ 

5. BCD oddilion 

"· 
h. 
c. 
d 

A 
5 

5 

D 
4 

1 

4 

c 
2 
s 
2 
s 

D 

-1 

-1 

Which one oJ tlle following statement, i5 
correct'/ 
:o. ROM is • Re~<~ Write Memory 

74. 

75. 

76, 

77. 

78, 

II ot I li 
b. PC points to the l~sl instruct ion that 

was executed 

c. StAck wo.ts on the Jlrinciple of Lli'O 
d. . \ll instructions affect the lhg• 

Con.•idcr the following multiplicotioo 

(10wlz)2 (15)10 (y01011001)! 

Which one of Ul< following giv~ 
appropriato vnlues of w. y lind z? 
•. w " 0. y = o. z = 1 
b. w = 0. y = l. z = I 
"' w = l. y = l, z = I 
d. w ~ J, y & L z & tl 
\Vh3t must be the content• ni Uoe control 
word of Intel 8255 for Modc O(op.,ratiun) 
and for U1e following ports couJigurntion: 
Purl A output, Port B - outpul 
Purl Ct""" , outpuL Port c,.,.,. input ? 
A. 85.1:1 

b. 86 H 
c. 87 H 

d. 8~H 

Which or e of the follo1ving 8tl8S >3sembly 
Jangu•ll" inslnletioru; does not atrect lhe 
ctJntcntJI of the ru:cumulat.or? 
a. CMA 

b. CMPB 
c. DAA 
d. ADDS 
~ IC 1~88 •nd MC 1489 are needed when 
using R.S 232 for wb.ich one of Uoe 
following? 
a. To conn:rt U•~ logic:LI kl'cls al the 

ro.:eh•ing and sending encl~ of RS 232 
i~to ·n1.. compulible levels 

b. To convert tl•e TI'L lovel voltages ot 
the •crnding and r"'--eiving tnd• of R~ 
.232 to ± l 2 V )c\'ol 

c, They •u-e not r<:quired white using RS 
232 

d. To improve the current tlrive of lltc RS 
232 output sigMt. 

Which one of the following slnloruont• fur 
lnlel 8085 is corre<:l'? 
n. l'l·ogmm counter (PC) spt'C.iJies the 

~ddress oJ lhe instruction last executed 

b. PC specifie.< U1a addres• of lhe 
instruction being executed 
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7!) 

80. 

81. 

c. rc speciJles lhe addres~ of lh~ 
instruchon to be cxecmed 

d. PC' specifies rhe number of instntction~ 
cxc"uted so far 

Match List I (lmermpts) wilh List U 
(Corresponding Characlel·istlcs) and selc:et 
the corrccl Bnswer using tho codes. g'ivon 
below: 
List I 
A. TRAP 

B. lNTR 
C. RST7.5 
D, RST6.5 

ListU 
I Level triggered 
2. Non maskable 
3. For increa•ing the number of interrupt• 
-1. Positive edge triggered 

A B C D 

"" 2 4 3 
b. 1 4 3 2 
c. I 3 4 2 

tl 2 J 4 
What i~ the IOUII numhc"r of memory 
lc>Clltions nod input-output devices thai can 
he nddressed with n processc>r having 16· 
Ilia address bus, u•ing memory mapped 
l!O? 
• 64 K mcm<Wy lo<:>tioM anti 256 I •~> 

device,; 

b. 256 UO device. iilld 65279 m~'tUOIJ 
locntion.s 

c. 64 K mcmot')' Jocnlions :utd 110 IJO 
devices 

d. 64 K memory locations or input-output 
devices 

For Intel 80~!\. match Li•t 1 (Addressing 
MJKicl with l,~t II (lnstructicm) 3nd •elect 
llt~ c:orre<:t 3Usl"cr !lSinJ!. lhe uode~ !liven 
b.Jow : 
Li>l l 
1\. lmplicit addr.,.~ing 
S.. RegiSter-indit-ec.t 
C. luunedi:tle 
0 . l)irecl addre.<sing 

Li•t II 
I. JMP3FAUR 
2 MOV A.M 

82 

83. 

84. 

85. 

~. LDi\03FC' ll 

-1. RAL 
_\ B 

a. 4 1 

b. 4 2 
e. 3 2 
II. 3 

C D 
2 3 

3 
4 

2 4 

11 of 16 

A memory system of 64 kbytes needs to he 
designed witl1 RAM chips of I kbyte eaciL 
and n dccodor tr!Ju constructed wit11 2 : ~ 
decoder chips witl1 "f.nahle" input. What 
i5 tht 111131 nut11her 11r dec<l!ltr chip~ 'I 
a. 21 
b. 64 
c. 32 
d. 25 
t.!Atch Li1t 1 witlt Li$t U ~ud select lhe 
correct ~nswer using the •'<>de~ giwn 
belo11 : 
l.ist 1 
A. Monitor program 

B. Assembler 

C. IVIncmonic 
D. Progr•m cqunt"'· 
L imn 
l. Used to ludie~lent<mory location 
}., A combination of loll=. $ymbols and 

numarn lli 

3. A progmm tluu ltnnsbtes symbolie 
inslruclions into binary oquinlcnt 

-1. An operoling systc:tn 

t\ B c D 
ll, 4 3 2 I 
b. 4 3 l 2 

c. 3 4 l 2 
d ' "' 4 2 1 

Which one of the to I lowing statements is 
com:'C!? 
In P('l\~ the cundiliuna l pf1>hobilit) l)f 
c:rrut is prop011ionallo 
a. noise pll\vcr (NG) 
b. Peak signal energy (E.. .. I 

c . .JN. 
d. JE. •.• 
Whi~h one uf th~ folluwing stalcrnents is 
C()rrtet'1 

www.studentsuvidha.in

Stu
de

nt
Suv

idh
a.

in

studentsuvidha.in/
studentsuvidha.in/


86. 

87. 

$8. 

H9. 

90. 

fn TOM non-esscniiBI ft'C(IUency 
component'< of the modul31ing sij!nol are 
rcm..vcd hy 

n. ~ampler 

b. atlenualor 

c. pre-alias tiller 

d . modulator 

Which one oi' l.he following stolemenl• is 
C()ITC::CI

1
/ 

For coherent detection nf digitnl signols. 
the receiver must bl! 

"· S)'flchr<mi.~cd m lime onl.y 
b. synchroni7.ed m phose on ly 

c. synchronized in lime ond pha•e 

d. unsynchronlzed 

f\ ~in,qlc·pllMc inverter hn.. . .c1u•rc wove 
oulpul voltage. What is. the percemage of 
the lifth h"nnonic compOnc111 in rch1tion lu 
tho l'utltlnnlenlill Coulpoucul? 

"· 40"o 
h. 31l"o 

c. 20'lo 

d. ~~~. 

For a binorv symmetric channel, whtcb 
one of tit~ following .is the con<O<:I 
cXpi'<:Mion for entropy 'I 
(p ~ ooudilJonol probability of crrQt'). 

n, p log, ( 1/pl • (I - pl l<1g,l)/( 1- pl I 

h. p log1 ( 1/(J-p)} + ( 1 - 11) log; ( Jltll 
c. 2 1og2 (11p) - 21ng,(ll l-p)} 

cl. (1 - p) !log: (I p)) -log,{( Ill - pH 
In amplitude modulation. the modulation 
envelope has a peak v•lt•e which is doubl" 
llkl uumodulnled cru.1·ier voluc. \VItal is the 
value of U1e modulation index '1 

"· 25°o 
b. 5()~. 

1.1. 75% 

d. l00°o 
s, ~nd So denote the signal al in(>Ut and 
oulput nr o linear ue-twol'k. N, and No aro 
the corrcopondlng noises. Which one of 
the following i• the cotTecl "''P"""ion for 
noise figure or lb~ network.'l 

s.s. 
n, 

"',N. 

91. 

92. 

94. 

13 of 16 

b. 
S,N, 
s,N. 

c. s,N. 
s.N, 

d .. s.N. 
S,N. 

Which one of the following slotements is 
con-eel? 
One hundred pe<cenl modolalion of the 
can tet fU!' U1~ bt'Oadeast FM rndio b•nd is 
adtioved when 

a. conier frequency citllng<:<l by < lOMu 
b. c"rr":t' enVcf(>pe change<l by "- lOO"o 
c. earrlcr frequ..,cy ch•nl!cS by = 75 kH~ 

d. audio freq·uency ch3nges by ± 15kHz 

In case of da l~ transmt .. ion. which on<> of 
lhe foUowing syst<i:lllS wUI give til~ 

moximuru probobilily of o:rtor? 

a .. -\SK 

b. FSK 
c, PSK 
d. I)PSK 

Which ()ne of the folll)wing sllilernenl!i is 
con·ccl? 

'fl1e type of modulation used genera lly in 
TV t.tnnsrniM:sion for video and oudiu 
sign• Is, respectively ore 

>. f'M and A..\4 

b. f'M and f'M 

c. AM oml At\ I 
d. A.Mond FM 
Malch Li:! t I (Flvl Service rypc) with List 
ll (Chormcl Bandwidl.h) and select lhc 
con-ect an.,wc-r u.~ing the codes given 
belm1 ~ 

l.i~t J 
A. Commercial FM rodio hroodcosl 

B. Tele\·lsion sound 
C. Police. tire, umbulaoce. elc. 

D. t\Jnittcur rt1dio 
Li<t U 
I. lllO kHz 
2. 151dl7. 

3 200 kHz 
4. 20kHz 

A B c I) 
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95. 

% . 

97. 

!18. 

99. 

a. 
b. 
c:. 
d. 

~ 

4 
3 
3 

2 

1 

3 

3 
~ 

-1 

2 
2 

Which one of the lilllowing statcmcnrs is 
corrcc.t'1 
f hc capacitor Chftrging time in the AM 
envelope demodulator is based on ~1e lime 
fur one 
a hal f cyc:le of the carrier frequency 
h quarter ~)'CI~ of ~1C ~arricr fn:quctiC)' 
c. half cycle or ~w lo1vest audio 

frequency 
!1. quarter cycle <>f the highest audito 

frcqu~ncy 

Which one or the follo11 ing sratcmcms is 
cdrrccr•z 
Qwlntising rmisc is produced fn 
a. all pulse modulruion systems 
b. r eM 
c. all modulutio11 syst<"tns 
d. FDM 
Which <JilC o l' th~ 1\!llowing statements is 
correct? 
The equalizing pulses in television 
ltunsmissioll are sent during. 
a vertical blanking 
h hori·tOiltnl biMking 
c. horiLonral retrace 

d picture K1rward trace 
Which one of the following represents the 
Fourier 'l'mnsfurm X(jw) of the signnl 

X(ll ~ t c"' uti) ·• 

a. X(jwl ~ jw 
(u+jw) 

b J
" ' 

X(]wl = , 
(n+jwt 

c. X(jw)~ (u+}w)' 
)W 

d. X(jwt = I 
(n+jw)' 

Which one of the rot lowing statements is 
currecr] 

I he tum olf limes of converter grade 
SCRs are oormallr in the mngc of 

11 ul lb 
a I to 2 micro;.,cond~ 

b. SO to 200 microseconds 
c. 500 toiOOO microseconds 
d. I to 2 milliseconds 

I Oil, Which one ur th~ 1\IIIOII'ing statements i~ 
corrccl? 

A triac is a 
a. 2 tennlnal switch 
b. 2 lenninal bilateral S\\~tt:h 
c. 3 terminal unilateral switch 
d. 3 1.cm1inul bidirectional ;·witch 

I (I t Which one or the foltow.ng is the most 
suitable device for a d.c·d.c. converter? 
a. BJT 
b. GTO 
c. MOSFFT 

d. ThyriSI<)r 
I 02. Which one of the foliO\\ ing is correct" 

!OJ. 

In a switche<l L-apacitor network for V AI 
compensation the SCRs arc commututed 
by 
a. forced commutation 
b. resonant commutmion 
C. llli[Ural C(H1UJJUI81ttll1 

d. delayed oommulali;ut 
Whtch one of the followong shows currem 
Jbld back dJaracteristJC$ curve for an SCR 
controlled shunt rcgulntctl iJQWcr supply ? 

a 

b. 

;;--, ~--, 
0 ' 

I 

I fbi .. 

c. 

d. 
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I 04 

I (15, 

106. 

t07 

108. 

v,rt2J 
'·-Which one or the rol lo,,mg swkme.nts is 

corr<Ct'l 
In n tnmsbtur. the r~..·vcrsc S.Hlumlion 
curtcntlr" 
a. double.' for every I o" c ri>t Ill 

lcmperalllrc 

b. do11blcs lor every I'' c riSe in 
t~mpernwrc 

c. increases linear!}· with temperature 
d. decrea<;CS linearly with temperature 
Which one 111' the tbllowmg statements i~ 
correct' I 
111 a thyristor. the holding curreml~ is 
a more thun the hdchmg oull'llnt h 
b lc:5S thuniL 
c. C(jUnlto lL 
d equal to 2<n1 

Which one of the lol lo\~ing statements is 
cum:ctf.' 
l·or nn SCI{. tlv/<lt pmtcc.tinn is nchievud 
through the usc or 
a. I~ L in series with SCit 
b. RC acm~ SCH 
c. 1. in seri~ with SCR 
d. ltC in series wtth S CR 
A J)UI\CI' diode i$ in the forwurd 
conduction mode and the forward current 
ls 110w decreased. The reverse recovery 
time of the diode is t, and the rate or fnll of 
th~ diode current is di/dL 
What is the ston:d chnrgc • 
a (dildt) . 4 
h 112 (di/dt) t/ 
c. (dildt) . 1,3 

d. 1/2 (di/dt) . ~ 
Ln the buck-boost convert-er. what is the 
maxinwm value of th~ switch utilization 
fuctut 1 

a 1.00 
h 0.75 
c. 0.50 

d. 0.25 

109. 

110. 

Ill 

111, 

113. 

15 or 16 
Which one of the following statemijntS is 
COJTeN? 
In ordc.r to eet best results per unit oosl 
lhe heat sink.~ on which the thyristors are 
mounted. are madc: of 
3. aluminium 
b. copper 
c. I! Jekel 
d. stainless s teel 
Wlm:lt one of tl1e fol lowing capacitors is 
suitable for oomrcnsation ofhormonic and 
reacLive power1 
a. Mica cnpudh.ll' 
b. Glass capacitor 
c. f'olypmpylcnc capacitor 
d. F.lcctrolyric C.1JJRcitor 
Which one of the lb llowing st::llcmcms is 
corrcc~/ 

n e fun~tion uf hl~eder resistor fn u power 
supply is 
a. to ensure a minimwn current drnin in 

the circuit 
1!. to Increase the output d.c. V!lltn.gc 
c. to in~-rense lh~ tJutput current 
d. same u:; Uml of u loud resistor 
Which on~ of IJ1e following is us<d us the 
main switching elcmem in a switched 
mode puwcr supply openuing in 20 kHz to 
I()() kll7. nmge2 

a. Thyristor 
b. MOSFET 
c.. Triac 
d UJ'J 
Asscn ion (A) The mnin advantago of 
d<cour•led lou~ f1n11 (01 f') 111ethod <IS 
compared to Newton Raphson method is 
Jts reduced memory requirements 1n 
stonng. the Jucobmn. 
Rcuson (Rl An im1><mn111 <huracreristic 
of <my practical clcclftc J}(liWI' 

lfansmission system operating in steady 
Slat<> is th" strong fntc.rdcpcndcncc 
between lh.e renl power and bus voltage 
angles. and between tl1e roact.ive powers 
and voltage magnilUdes, 
a. Both A and Rare individu"lll true and 

R is the correct cxplru1a111>n Qt A 
b Both A and R nr< individuall ) tru< 0111 

R is not the correct e~<planatilnl of A 
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~. 1\ ~ Inn:: t>ut R is falSe 
d. A is f~Llc but R i~ true 

ll•L Allsertiou (i\) : A single-pb:tso induction 
motor is not self·Atarting as such. 

Reoson (R) : A single-phliSc induction 
motor develops only puls•ting magnetk 
fi~ld which provides zero torque nt 
standstilL 
a. J3ofu A and Rare individW~IIv tru~ and 

R is the correct cxplanntion of A 
b Doth .'1 ~nd R nrc in<lividu.>U\ true but 

R is not the correct e~plonatio'n of' A 
c. 1\ is ltUI: but R is false 
<L A is ft~Llcbul R is true 

115. Allsert.ion (A) : In the ''3·poiut" type of 
storter of a d.c. aeries motor, the ·'holding 
CQil" for holding Ute starter handle in the 
"OW stud is ~ortnectcd fn su~h 4 rn•tuto:r 
thtlt il i..~t !~hOft .. l!_trcuitcd \\'lu:u lhu *'uvcr 
luad'' r~l:oy picks up. 

RcalUln (R) : In o d.c. •cries motor startar. 
tu ll''"'d nga inst "r"cing" due to sudden 
Iorge •·edu~tion of shaJl.-load. Ute '1wld.iug 
coil~ is cormceted in series with Ute 
acmature oirouit :UJd the ,;erics fieJd 
winding. 
• · Both A and R are individual ly tm" :md 

R is tho cort'ecl cxpl~llllUOn of A 
b. 8oth ..\ and R are lndividu.t.Uy true but 

R is oot thu corrucl~:Xplonation of A. 

~. A is tnw but R Is fals~ 
d. A is fnl~e butR is true 

116 As~ert.ion lA) : A ·~'nchrrmous motor 
opcrut.ing ftoffl CQII$l>nt voJtnga 11nd 
~oost.nnt f'(I;(JUOO~Y .ourcc lUI• • 
•llb~tontially conSinnt resuham nir·s•P 
tlux. 

Reason IR) : If tho d.c. field .::urrent m thi~ 
motor can setup the reftuin:d rc;;ull<~n l nir­
gap nux. the l"ggwg tcoeti \1<> volt·""' I"'"" 
clrawn frtmt a.c, source irt ~ero. 

"· Both ,.\ nnd R nre iudividu11 lly true unll 
R ~~ Ute et>m:ct e~pltmoticm nf A 

1>. 8oth A and R arc individually 1ruc hut 
R is not tlle correct explanation of i\ 

c. A is !me but R is false 
cl. A is fa lse but R is true 

117. A~•ertlon (A) : Tnrnst'onner is not tk,ed In 
a d.c. line. 

16 nt 16 
Rc>son (R) Lo~se<- in Ute d.c. cit-cui! ore 
not neglll!ible. 
a. Both A and R .,.. individunlly true ond 

R is t.hc coffi!C.t c.'(plonMiun ol' A 
b. Both A and R ~re Individually true but 

R is not the eo.rrect ~xpl11natiou of A 
c. A is tru-e but R is false 
d. A is false but R is true 

118. Asse.1fun (A) ; <\-connected terti•n• 
"inding_s tend tu act as :m nuCot'nati~ 
feed bock coulrol sy•t..:w. 
Reason (Rl : In tltc event of uobnlorlcc:d 
secondhry IQocl cum:nt.s. hoth secondary 
;•nd prirn~ry lo:ael vohages ;are restored.. t~ 
thc:ir n01mnl p.ha$e onngn itudc ~no artglc·. 

" · B1.1tlt A •od R are indiv•tlu• lly true and 
R is the corr«tt c.-cpl31111tion <Jf A 

b. Both A and Rare irtdividuaJJv rrue but 
R is lUll the coJTc<lt c:Kplanntio'n of A 

c. A is tru" but R i1 false 
d. A is false> but R is lrue 

119. As.•ertion(Al U' tlreload requirement of a 
synchronous motor <:xceeds the pu ll-out 
torc1ue; the syn;.:.hronous motor action is­
lost. 
R.e:tson (R) : Rotor and st~tor fiold.~ ore no 
longer statiotl"dty with respect to eoch 
oUter. 
a. BoUt A and R nrc: indiviou• Lly true and 

R is the correct <"tplonotion of A 
h. Both A li.Dd Rare individuau, true but 

R is not the conwt cxplMntion of A 
C. ;\ i> true but R is fnbe 
d. A i• false but R is true 

120. Ass•rtiou t .-\) : l11 a thyristor-conlroUod 
reactor. a ntinimum or 3 tn 4 thvriJtors 
IIIURI be provided as redundant in c~padt<>r 
switching. 
Reason (R) : IL is de<ired to protect the 
whole string agall\St un.,.p~:<:I..U transietlls. 
a. Both A and R are indiv1du•UY true and 

R is U1c corrccl <:.'<plonolion of!\ 
b. J3otl• A and R nrt.: ln«lvidualh tru~ but 

R i> notlb¢ cotTc.:.t explanation of ,\ 
c. 1\ is lrlle but R is f41se 
d. A i• f~lsc but R i6 true 
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